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import sys
sys.path.append("statlib")
from univ import median2

median2(x, y=None, accuracy=0, verbose=True)

21 5|
X F—=F X7 PIVFELIIPBAREORT oL
y X MF—F X7 FILDOBE T None
IR DR Y L DIGEZERN T b L
accuracy BIEREE, 774NV ME0T, Z2OBHIIHEEDRA T4 TV
verbose DERNRO 7Y v 1R TS
22 EbhfE
HEE & L7 e fili
3 {EMAHF
x=1[1,1, 2, 2, 2, 2, 3, 3, 3, 3, 3, 3, 3, 3, 4, 4, 4, 4, 4, 4, 5, 5]

import sys
sys.path.append("statlib")
from univ import median2

median2(x,

a = accuracy=1)




median = 3.125

import numpy as np
np.median(x)

3.0

import statistics as stat
stat.median_grouped(x)

3.125




